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1) (25 pts) A BJT amplifier circuit is given below. (hgg =499, | Vg 1=0.7V, Vg = 25mV)

a) Draw the DC equivalent cirenit and find the operating points of the transistors.
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b) Obtain a small-signal equivalet of the circuit (including small signal models of the transistors).
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2) (25 pts) a) Find the operating point of the bipolar transistor in the circuit below. Assume Vg =
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b) What will be the values of I, and Vi if the supply voltage Viop is doubled?
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¢) What will be the values of I and V¢ if the supply voltage Vi is halved? (Vo =5 V)
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d) What will be the values of I, and Vg if hgg = 5007 (Vge = 15 V)
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3) (25 pts) Design a bias circuit to have the operating point of a PNP bipolar transistor to be Vg =
65V, I; =2 mA. Any circuit that works is acceptable. (Assume fi= 200, Vgg = 0.7V)
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4, (25 pts) Sometimes, a high-f transistor is neaded for app]in:atiuna Two transistors are
connected as shown below and used as a single transistor. This is also known as Darlington pair,
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2) For the FET in the circuit below, assume T K= 10 mAVE,
a) Find !/, and a small signal equivalent of the amplifier circuit. =248 v
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) Obtain a small-signal equivalent circuit for the amplifier given below. Then find the input resistance,
output resistance and voltage gain of the amplifier.
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2) Find the operating points of the bipolar junction transistors in the circuits given below:
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3) Find the o i
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